BEE
THSEE

RHSEERBEEBRERRTEXIGEMRERH

A BE R

EEA
5
=
B o
BEE

\

S m m

Jio

RIGZEE
ERERBEXRE
ERERBEXRE
RERETE
18-16-23-003



BHRERRE PHSE L REE AR EBHR L K AEERE S LT

% Lz B - AR By % B B £ # IS
E R 6,171, 505
MeEkER At 6,171, 505
HARRE 6,171, 505
HARRE 5,904, 740
HARRE 5,904, 740
1-1 RwEE 1.00 298, 800. 00 298, 800
=
1-2 EASTHER SR IEHRET 1.00 5, 605, 940. 00 5, 605, 940
=
EERE 266, 765
EHERARE 57, 286
1-3 EBRARE 1.00 57, 286. 00 57, 286
=
RXERRRE 159, 427
-4 EBHRERE 1.00 159, 427. 00 159, 427
=
REXEE 50, 052
1-5 W& 1.00 50, 052. 00 50, 052
=




BHEERRE

SMSEERBEREERRREXEEMRIEEH
% [z g - ARSI Hf # B B £ # il

E R 5, 558, 302

MeEkER At 5, 558, 302

EhEERE 5, 558, 302

EhERE 5, 304, 600
SHEZER 271, 450
2-1 EtE#RE 1.00 271, 450. 00 271, 450
=
ES B 3,210, 300
2-2 EFRG 1.00 3,210, 300. 00 3,210, 300
=
BHER 1, 300, 650
2-3 TERITENER 3.00 433, 550. 00 1, 300, 650
e - e E 516, 200
2-4 ERIHE 1.00 90, 800. 00 90, 800
2-5 HfEEHRE 3.00 90, 800. 00 272, 400
2-6 HR|E 1.00 153, 000. 00 153, 000
EERE 253, 702
EHERARE 47,884
2-1 EHRARE 1.00 47, 884.00 47,884
=
RXERRRE 205, 818
2-8 XBHRRE 1.00 205, 818.00 205, 818
=
2




SHBEERIER AISEERBEEBERBRL KA EMBHELHE
% # 1B - MR B & %

BRI 5,904, 740 + 266, 765 6,171,505
EEAGE 5, 904, 740
EERE 266, 765
T Ot R 5,904,740 x 53.85% ( 35% + (1 — 35%) ) 3,179,702
RHRIE 6,171,505 + 3,179,702 9,351, 207
—REERF 9,351,207 x 53.85% ( 35% =~ (1 — 35%) ) — 6,831 5,028, 793
BRI 5,304,600 + 253,702 5, 558, 302
EEAGE 5, 304, 600
EERE 253, 702
T Ot R 5,304,600 x 53.85% ( 35% + (1 — 35%) ) 2, 856, 527
RHRIE 5,558,302 + 2,856, 527 8,414,829
—REERF 8,414,829 x 53.85% (35% = (1 — 35%) ) — 6,214 4,525,171

s T T
BEHER 14,380,000 + 12, 940, 000 27, 320, 000
HEREELE 27,320,000 x 10.00% 2,732,000
EATIEE 30, 052, 000




Bffik-fEI/\vr—>

SHSEERBEEEERMTERIGEMBRITEEE

&5 :1-1
& BAE 14y
2 b g - BIRTE By = B ® # " =
FEHER
A 1.000 62, 200. 00 62, 200
AR (A)
A 2.000 55, 200. 00 110, 400
HEm (B)
A 2.000 45, 300. 00 90, 600
AR (C)
A 1.000 35, 600. 00 35, 600
& Hi 1YE%HeH - 1.00K 298, 800. 00 298, 800
T EE L
FHE—IEWE Tl
&5 :1-2
£ EALTIERBUSRET 14y
2 b g - BIRTE By = B ® # " =
FEHER
A 6. 200 62, 200. 00 385, 640
FEHER BE
A 1.500 62, 200. 00 93, 300
AR (A)
A 18. 000 55, 200. 00 993, 600
HEm (A) BE
A 1.500 55, 200. 00 82, 800
HEm (B)
A 42.000 45, 300. 00 1,902, 600
AR (C)
A 47.200 35, 600. 00 1,680, 320
g
A 14. 800 31, 600. 00 467, 680
& Hi 1E%HeH - 1.00K 5, 605, 940. 00 5, 605, 940

FIHERESMEE 2 L
FHE—IEMHE - BL




BfR-BEI/ \vr—>

SHSEERBEEEERMTERIGEMBRITEEE

&5 :1-3
£ EHARE 1LY
£ b g - BIRTE BT H = B O %8 # & &
EHERARE
= 1.000 57, 286. 00 57, 286
& Hi 1YE%HeRH 1,00 57, 286. 00 57, 286
T EE L
FHE—IEWHE  TL
&S :1-4
£ XBRERE 1LY
£ b g - BIRTE BT H = B O %8 # & &
FRIAAE
= 1.000 159, 427.00 159, 427
& Hi 1E%HeH - 1.00K 159, 427.00 159, 427
FIEEEMIEE L
FHE—IEWE  TL
&S :1-5
&% kB Bl
£ b g - BIRTE BT B = B Ol %8 # ik &
REE
= 1.000 50, 052. 00 50, 052
& Hi 1E%HeH - 1.00K 50, 052. 00 50, 052
T EE L
FHE—IEWE Tl
&5 2-1
&% FrEEE 1=y
£ b g - BIRTE BT B = B Ol %8 # & &
HE - HiE
A 1.000 70, 900. 00 70, 900
FEHER
A 1. 500 62, 200. 00 93, 300
HER (B)
A 2.500 45, 300. 00 113, 250
& & fEZg:H - 1,00z 2717, 450. 00 277, 450

FEEMESNEE L
FHE—IEWHE Tl




Bffik-fEI/\vr—>

SHSEERBEEEERMTERIGEMBRITEEE

&5 :2-2
£ T . A 14y
2 b g - BIRTE By = B ® # " =
FEHER
A 8. 000 62, 200. 00 497, 600
AR (A)
A 13. 000 55, 200. 00 717, 600
HEm (B)
A 21.000 45, 300. 00 951, 300
AR (C)
A 20. 000 35, 600. 00 712,000
g
A 10. 500 31, 600. 00 331, 800
& Hi 1YE%HeH - 1.00K 3,210, 300. 00 3,210, 300
T EE L
FHE—IEWE Tl
&5 :2-3
£ TEFRITERMER HEED)
2 b g - BIRTE By = B ® # " =
FEHER
A 1.500 62, 200. 00 93, 300
AR (A)
A 2. 500 55, 200. 00 138, 000
HEm (B)
A 2. 500 45, 300. 00 113, 250
AR (C)
A 2. 500 35, 600. 00 89, 000
& Hi 1YEZHER - 1.00[E 433, 550. 00 433, 550

FIHERESMEE 2 L
FHE—IEMHE - BL




Bffik-fEI/\vr—>

SHSEERBEEEERMTERIGEMBRITEEE

&5 :2-4
¥ BATHE HEED)
2 b g - BIRTE By = it ® # " =
AR (A)
A 1.000 55, 200. 00 55,200
AR (C)
A 1.000 35, 600. 00 35, 600
& Hi 1YEZHEH - 1.00[E 90, 800. 00 90, 800
T EE L
FHE—IEWHE  TL
&5 :2-5
& PRERE HEED)
2 b g - BIRTE By = it ® # " =
AR (A)
A 1.000 55, 200. 00 55,200
AR (C)
A 1.000 35, 600. 00 35, 600
& Hi 1YEZHER - 1.00[E 90, 800. 00 90, 800
FIEEEMIEE L
FHE—IEWE  TL
&5 :2-6
£ EW|E HEED)
2 b g - BIRTE By = it ® # " =
FERER
A 1.000 62, 200. 00 62, 200
AR (A)
A 1.000 55, 200. 00 55,200
AR (C)
A 1.000 35, 600. 00 35, 600
& Hi 1YEZHER - 1.00[E 153, 000. 00 153, 000

FHHERESMEE 2 L
FHE—IEMHE - BL




BfR-BEI/ \vr—>

SHSEERBEEEERMTERIGEMBRITEEE

&5 :2-1
&% EHARE 1LY
2 b g - BIRTE By = BHO(f ® % # " =
EHERARE
= 1.000 47,884.00 47,884
& Hi 1YE%HeRH 1,00 47,884.00 47,884
T EE L
FHE—REWE : TL
&5 :2-8
2% EBHRRE 1LY
2 b g - BIRTE By = BHO(f ® # " =
RIHEEN
= 1.000 205, 818. 00 205, 818
& Hi 1E%HeH - 1.00K 205, 818. 00 205, 818

FEEMSNEE L
FHE—IEWE  TL




